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Trigonometry: Final Exam Prep Natis: hﬂ,% ',
Math I :

Directions: The following questions are sample items similar to those found on the EOC Exam. Answer each to
the best of your ability.

1. What is the approximate length of HJ in the diagram below? 2. Billy is 74 in. tall, and his shadow is
70 in. long. What is the approximate
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5. Which function is graphed below?

;' 3“ @ y = sin x

y = COS X

C y =tan x

D y = cot x




6. KM is an altitude of AJKL, and 7. 1Inright triangle LMN, LN = 728 cm and LM = 70,

;‘CM = JM. The measure of ZLKM N
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8. What is the approximate length of HJ in the diagram below?
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9. Laila and Casey both built bike rarﬁps. Laila’s ramp has a base that is 6 feet long
and is slanted at an angle of 20.5° from the ground. Casey’s ramp has a base that
is 8 feet long and is slanted at an angle of 16° from the ground. Which statement

is true?
A" Laila’s and Casey’s ram;js are similar triangles. »-5 li’i-?o "
) L _ = 20! L5
B Laila’s ramp is about 6 inches shorter than Casey’s ramp. »
¢ Laila’s ramp is about 6 inches taller than Casey’s ramp.
Laila’s and Casey's ramps are approximately the same height. o .l 2.2
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an the figure below, a pole has two wires attached to it, one on each side, forming
two right triangles.
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Based on the given information, answér the questions below.

. How tall is the pole? 2.9 (p
. How far from the base of the pole does Wire 2 attach to the ground? '13.\

. How long is Wire 17 H%. ) oS Hi= 3H
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1. Arope is attached to the top of a 25-foot pole. The pole is perpendicular to the
ground. Approximately how far from the base of the pole must the rope be
attached to make a 30° angle with the ground?
A 12.5 feet
B 14.4 feet 25132 = yz 2
2
© 43.3feet
D 50.0 feet
12. Inthe diagram below, AMPO is a right triangle and PN = 24 ft.
M tan b % ton 24= Y.l
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P h=1812.9
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» How much longer is M0 than N ? (7. O £ =

. How far is point O from point N ? %{ % ﬁ
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